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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes cach sentence.

Then mark the answer on your auswer sheet.

1-  Living close to a lake means we have an --------—-- supply of water.
1) inherent 2) abundant 3) inconsistent 4y eclectic

2-  The advertisement for the weight loss pills is very ------—-—- since studies have shown
they’re ineffective,
1) persistent 2) interminable 3) sensitive 4) misleading

3-  The twins hated to be apart, so they bought houses in ¢close ---—------ to each other.
1) pertinence 2) proximity 3) acquaintance 4) scrutiny

4-  With few new jobs created, the economy has remained --------—- for the past five yvears.
1) conservative 2) unfeasible 3) stagnant 4) impassive

3~  Two days after the flood, fortunately the scawater finally began to —----—-- from our
housc,
1) recede 2) sceede 3) proceed 4) intereede

6- The buosiness nsed only to make bicyeles, but they've now ——-——- a range of other
eveling products,
1) diversilicd into 2) emerged [rom 3) reverled to 4) stemmed [rom

7-  The audience clearly loved the play—the ——--—--—- was deafening. So it’s not surprising
that it got glowing reviews,
1) merit 2) rivalry 3) applausc 4) benediction

8-  Experienced lditarod ronners tried to ---------- Gary Paulsen from competing in the

grucling Alaska racc, but they were not successful. The writer and his tcam of sled dogs
ncarly perished during the race,
1) clicit 2) derive 3) snalch 4) dissuadc

9-  The Kalapalo Indians, who live on the savannas of central Brazil, have little -------—- to
change their leisurely lifestyle. They work just several hours a week to provide food,
their only need.
1) disinlerest 2) impetus 3) umpact 4) rigidity

L L hy the rude behavior of the clerk, Ms. Caine reported him to the manager. She
belicves that customers deserve courteous treatment, even when retorning merchandise.
1) Withdrawn 2) Arigen 3) Restricted 4) Incensed
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

While clephants are oflen one ol a #00°s lop atiractions, a new report charges that their
level of care often falls short of star treatment. In a study (11) ---------- this week. the
UK’s Royal Society for the Protection of Cruelty to Animals (RSPCA) said elephants
in European zoos are often unhealthy, (12) ---------- considerable stress, and have a
much shorter life than their counterparts in the wild. 'T'heir condition is frequently even
worse than (13} ----—----—- in Asian timber camps. alleges the RSPCA, (14) ------—--- is
calling for wide-ranging changes in the way (15) -====---- . In the meantime, the group
says, European zoos should stop importing and breeding elephants.

11- 1) rcleased 2) was rcleased 3) 1l is released 4) that rcleascs
12- 1) 1o endure 2) they endure 3) by enduring 4) endure
13- 1) clephants 2) ¢lephants do 3) that of ¢clephants  4) for ¢lephants
14- 1)it 2) which 3) that 4) that it
15- 1) 7zoo elephants are treated 2) in 7oos are treated elephants

3) elephants are treated by in zoo 4) that elephants being treated in zo0s

PART C: Reading Comprehension

Directions: Read the following three passages and answer the guestions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

It was in Egypt and Mesopotamia {modern-day Iraq) that civilization arose, and it is
there that we Iind the carlicst examples of that key [cature ol civilization. wriling.
‘These examples, in the form of inscribed clay tablets that date to shortly before 3000
B.C.[., have been discovered among the archacological remains of the Sumcrians, a
gifted people settled in southern Mesopotamia.

The Egyptians were not far behind in developing writing. but we cannot follow the
history ol their writing in detail because they used a perishable wriling material. In
ancient times the banks of the Nile were lined with papyrus plants, and from the
papyrus reeds the Egvplians made a lorm ol paper; 1t was excellent in quality but, like
any paper. fragile. Mesopotamia's rivers boasted no such useful reeds, but its land did
provide good clay, and as a conscquence the ¢lay tablet became the standard material,
Though clumsy and bulky it has a virtue dear to archaeologists: it is durable. Fire, for
example, which is death to papyrus paper or other writing materials such as leather and
wood, simply bakcs it hard, thereby making it ¢ven more durable. So when a
conqueror set a Mesopotamian palace ablaze, he helped ensure the survival of any clay
tablets in it. Clay, moreover. is cheap, and forming it into tablets is easy, factors that
helped the clay tablet become the preferred writing material not only throughout
Mesopotamia but far outside it as well. in Syria. Asia Minor, Persia, and even for a
while in Crete and Greece. Fixcavators have uncarthed clay tablets in all these lands. In
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the Near East they remained in use for more than two and a half millennia, and in
cerlain arcas they lasted down to the beginning of the common cra until [inally
vielding, once and for all, to more convenient alternatives.

16- The passage primarily discusses -----—----—-

1) Sumerians 2) early writing
3) archacological remains 4) ancicnt civilization
17-  According to paragraph 1, the first examples of writing ------------- ;

1) uscd clay 1o wrilc on stoncs
2) date to around 3000 vears ago
3) were found in modern-day Fgypt
4y were found in southern Mesopotamia
18- What did the ancient Egyptians use as writing material?

1) Clay 2) Stone 3) Papyvrus 4) Durablc paper

19- It can be understood from paragraph 2 that the Mesopotamians used clay tablets for
writing as a conscquence of ity -—-—-----—--- :
1} durability 2) availability 3) shape 4) bulk

20-  According to paragraph 2, all of the following are truc about clay tablets EXCEPT

1) they are still used lor wriling in cerlain arcas

2) theyv were used in some parts of the Middle East

3) excavators have lound them in dilferent countrics
4y they continued to be used for more than 2300 years

PASSAGE 2:

The Islamic conquest ol lran during the 7th century entailed not only a change ol
religion but also a change of language. The sacred language of [slam was Arabie, and
the proportion ol Arabic words used in Persian rapidly increased until it reached
something like the 40 to 50 percent of the present day. Betfore the introduction of the
Arabic element, most loanwords were mainly from other [ranian languages. Most
familiar 1s the extensive borrowing from Median found in Old PPersian. In later periods,
Modern Persian borrowed words extensively from ‘lurkish and from European
languages. Persian is itself the donor language in the case of the other Iranian
languages. all of which have drawn upon its vocabulary.

Buddhism was similarly responsible for the large proportion of Indo-Arvan words,
both Sanskrit and Prakrit, found in Sogdian and especially in Khotanese. A
considerable Indian element occurs in the vocabulary of those modern Iranian
languages that have been or are in contact with modermn Indo-Arvan languages in the
northwest, such as Lahnda and Sindhi. There the Dardic languages have also been
influential. Balochi has alse borrowed rom Brahui, a Dravidian language spoken in
Balochiglan in Pakistan.

Qssclic occupics an exceplional position. Mosl ol its Persian and Arabic borrowings
have come to it through Turkish. but more striking are the large number of words
borrowed from the Caucasian languages, especially (eorgian. In modern times.
Ossetic continues to be influenced by Russian.
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21-

24-

25-

The passage is mainly concerned with -———-aa——,

1) the language of [slam 2) loanwords in [ranian languages
3) the clTeet of Arabic on Persian 4y how Islam changed Persian literature

According to paragraph 1, what language or languages were the major source of
loanwords in Persian before the 7th century?

1) Arabic 2) Turkish

3) Furopean languages 4) Other Iranian languages

Which of the following is true about Persian and other Iranian languages?

1} They borrowed words from each other.

2) Median borrowed many words from them.

3) They were responsible for many words in Buddhism.

43 Only Persian was the donor language in terms of vocabulary.

According to paragraph 2, Indian words are found in those Iranian languages that

1) are spoken in India

2) arc spoken in the northwest of Tran

3) have not been influenced by Arabic

4) have had contact with languages such as [Lahnda and Sindhi

All of the following are mentioned as the languages that have influenced (ssctic
EXCEPT —-e-eoeeeeeee :

1) Arabic 2) Russian 3) Brahui 4) Georgian

PASSAGE 3:

‘The rise of Moscow during medieval times was a fundamental development in Russian
history. Mascow began with very little and for a long time could not be compared to
such flourishing principalities as Novgorod or (alicia. Even in its own area, the
northeast, it was junior to old centers like Rostov and Suzdal. [n accounting for
Moscow's rise, historians have emphasized several factors or rather groups of factors.

First, attention may be given to the doctrine of geographic causation. It stresses the
decisive importance of the location on Moscow for the later expansion of the
Muscovite state (the medicval state centered in Moscow) and includes several lines of
argument. Moscow lay as a crossing ol three roads. The most important was the way
[rom the historically crucial city ol Kicv and the declining south 1o the growing
northcast. In lact Moscow has been deseribed as the [irst stopping and setling point in
the northeast. But it also profited from moments in other dircetions, including the
reverse, Thus it scems immigrants came o Moscow alier the Mongol devastation of
the lands [urther to the northeast. To speak more broadly ol waler communications
which span and unite Furopean Russia. Moscow has the rare tortune of being located
near the headwaters of four major rivers: the Oka, the Volga, the Don. and the
Dnieper. This offered marvelous opportunities for expansion across the flowing plain.
especially as there were no mountains or other natural obstacles to hem in the young
principality.

In another sense too, Moscow benefited from a central position. It stood in the
midst of lands inhabited by the Russian people which, so the argument runs. provided
a proper sclling lor a natural growth in all dircetions. Central location within Russia, (o
make an additonal point, cushioncd Moscow [rom outside invaders. Thus, lor
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example, it was the city of Novgorod, not Moscow, that continuously had to meet
cnemics from the northwest, while in the southeast Riavzan absorbed the Nirst blows
from the direction. All in all. the considerable significance of the location on Moscow
cannot be denied although this geographic factor has generally been assigned less
relative weight by recent scholars.

26- Around the beginning of the medieval times, which principality was the weakest?
1) Novgorod 2) Moscow 3) Suzdal 4) Rostor
27-  According to paragraph 2, the way from the declining south to the growing northeast
1) was later expanded further east
2) helped Europeans to visit Moscow
3) was the reason why Moscow was built
4} was onc ol the three roads that crossed Moscow

28-  According to paragraph 2, some people immigrated to Moscow due to --——--—-—-—,
1) Mongol allack 2) lood shortage
3)ils rivers 4} its beauty
29-  The word “that” in paragraph 3 refers to ———-——--—-— ;
1) Novgorod 2) Moscow 3) encmics 4) example
30- Which of the tfollowing best describes the relationship between paragraph 2 and
paragraph 3?

') Each paragraph explains some theories about the rise of medieval cities.
2) Paragraph 3 provides examples for what is introduced in paragraph 2.
3) Both discuss the role of the geographic tactor in the rise of Moscow.

4) IParagraph 3 rejects a hypothesis proposed in paragraph 2.
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